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Question No. 1
foe 3% & frw awilar o oX Al 3R 3REEH & AT R gU ¥ S argdt F Av 3R &ar §?
A)amef-sfae gasidr B) e FHSANAT
C)eeel gasilar D)ed@a3 FHSIAT

Which of the following agreements was signed between Gandhi and Ambedkar that granted new rights to

untouchables?

A)Gandhi-lrwin pact B)Poona pact

C)Delhi pact D)Lucknow pact

Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 1) (objection.aspx?qwr=3210111049&qwer=1)

Question No. 2
ffof@a v & A gEar Fr wEuEgEs o AR A Ru aw wed & seer & Bl Fwelr g@nr v
A$RT 3N & g9 & v e Ags Re aw §) gfosmh & 3 & () F7 & 7 50% 3w & A
wias gl (i) ¥ ofem & &7 & 7 40% 3F wred @ (i) 10 R, 1996 Fr e g 24 a8 &
w4 3R Aftwaw g 29 9§ F HOF At e WRT (v) F & FH & ant g AHRT HOFH F w7 F
FH T F IPEE gl fFl W A F Set sedficar @l Aes F qu waneh g Rar (v) ¥, afr
3% U AR yateT F FIS BoellAr g, af 39% A P AT TaU®, ARSI & T Aot gom| ey 0
A 7 Sl 37gaR Welt AMIEs @ QU X g fRare (i) F, After 3w AT Afted F v F O
auf d& s R g, o 39% A F AR, AT & g A g9ml HEOT B shAw: B Hr gdew ik
@ oleT # 60% 3R 40% 3 WIed §U &1 SHHr SoA-fafy 17 der 1963 ¢l a7 o 2
A)ZFAICAR FT TIA AGl AT T bl ¢ B)3¥HIcarR FI HET YaHh, HRhied & IrF HT ST
g
C)3#¥Hicar &I faged fohar Sirar arige D)3+HIcar & fAceres, AR & urd AT ST g1emm|
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Following are the criteria for selecting a marketing officer by a company. The candidate must: (i) Be a
graduate with at least 50% marks. (i) Have secured at least 40% marks in the written test. (jii) Not be less
than 24 years and not more than 29 years as on 10 December, 1996. (iv) Have work experience of at least
two years as a marketing officer. In case a candidate satisfies all the other criteria EXCEPT (iv), but has a
diploma in Marketing Management, his/her case is to be referred to the General Manager, Marketing. In case
a candidate satisfies all the other criteria EXCEPT (iii), but has worked as a marketing officer at least for three
years, his/her case is to be referred to the Director, Marketing. Arun has secured 60% and 40% marks
respectively in the degree examination and in the written test. His date of birth is 17 April, 1963. He has been
working in an organization as a marketing officer for the last 2 years.

A)The candidate cannot be appointed B)The candidate has to be referred to the General

Manager, Marketing

C)The candidate has to be appointed D)The candidate has to be referred to the Director,
Marketing
Answer Key : A Your Response : C (Wrong) Raise Objection(Question No. 2) (objection.aspx?qwr=3210111049&qwer=2)

Question No. 3
e, aTem AR GII & AT £.8100 30 THR & Fic A0 & 3fAeg & Ry A 1/2, aem & 7Ry 7 1/3 3R
QI F R F1 1/4 TR | 3fAeg F G F1 g1 @]
A)%.2400 B)%.1000
C)%.1800 D)%.1500

Divide Rs.8100 among Anirudh, Bala and Suresh such that 1/2 of Anirudh's share, 1/3 of Bala's share and 1/4
of Suresh's share are equal. Find the share of Anirudh.

A)Rs.2400 B)Rs.1000
C)Rs.1800 D)Rs.1500
Answer Key : C Your Response : C (Correct) Raise Objection(Question No. 3) (objection.aspx?qwr=3210111049&qwer=3)

Question No. 4

a oA ot Forwe areq 3reT ¥ @ wefta

AYdd : & B)faegd : &l

C)4T=ir : el D)3iferdste : Siael

Find the ODD one out.

A)Qil : Lamp B)Power : Machine

C)Water : Tap D)Oxygen : Life

Answer Key : C Your Response : C (Correct) Raise Objection(Question No. 4) (objection.aspx?qwr=3210111049&qwer=4)

Question No. 5



39 WA H, T FYT F aq A st Ru aw §) afFs &7 § qo@ 3T Aswd gfaw) wyer 1) qeh
Rfeedl, Fow §1 2) 7o Rell, Fowr §1 3) Wt asF, Vel §) oowd: | wh w1, 755 §1 1. 3o
fafeeral, Rellar 1

A)fsay | 3R 1 1t areleT R B B)&had Sy | Urefel ol ¢
C)ad shy |l IreleT T B D)fasery | 3R Il F & :S off Aspy A& ureled
gl

In this question, three statements are given followed by two conclusions. Choose the conclusion(s) which best
fit(s) logically. Statements: 1) All cats are pens. 2) Some toys are pens. 3) All boys are toys. Conclusions: 1. All
pens are boys. Il. Some cats are toys.

A)Both conclusions | and Il follow B)Only conclusion | follows
C)Only conclusion Il follows D)Neither conclusion | nor Il follows
Answer Key : D Your Response : C (Wrong) Raise Objection(Question No. 5) (objection.aspx?qwr=3210111049&qwer=5)

Question No. 6

o fr affdT Fr FF AT F1ar &7
INpic B)3rieex
C)&wser D)e#e

How is the power of lens measured?

A)Aeon B)Dioptre
C)Candela D)Lumen
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 6) (objection.aspx?qwr=3210111049&qwer=6)

Question No. 7

Iy frdy d&Tr & 1/4 3R 38 d& F 1/6 & T & IHaw 3 §, O &I A A
A)38 B)34
C)36 D)32

If the difference between 1/4 of a number and 1/6 of the same number is 3, then find the number.

A)38 B)34
C)36 D)32
Answer Key : C Your Response : C (Correct) Raise Objection(Question No. 7) (objection.aspx?qwr=3210111049&qwer=7)

Question No. 8
AT Agard fArfaf@a & ¥ fFa @ d g&fta §2
A)eTa fad B)pedrer
C)dsfAeaT D)fshehe



Saina Nehwal is associated with which of the following sports?

A)Table tennis B)Foot ball
C)Badminton D)Cricket
Answer Key : C Your Response : C (Correct) Raise Objection(Question No. 8) (objection.aspx?qwr=3210111049&qwer=8)

Question No. 9
g #r AR g A FT A g F NN I B ¥ T &1 A ¥ B & 3G F 3G AT Ao
A6 : 1 B)8 : 1
C)4 : 1 D)2 : 1

The diameter of spherical metal ball A is twice that of spherical metal ball B. Find the ratio of volumes of A to
B.

A)6 : 1 B)8 : 1
CY:1 D)2:1
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 9) (objection.aspx?qwr=3210111049&qwer=9)

Question No. 10
s@er # qff FY1 75, 63, 52, 42, 33, 25, (.)
A)16 B)19
C)18 D)17

Complete the series. 75, 63, 52, 42, 33, 25, (...)

A)16 B)19
C)18 D)17
Answer Key:C  Your Response : D (Wrong) Raise Objection(Question No. 10) (objection.aspx?qwr=3210111049&gwer=10)

Question No. 11
ol avg & aea Aew IR R e & @i AR €300 T AR T 25% B, o awg @ N e A
Hfae
A)F.1550 B)%.1340
C)%.1500 D)%.1450

The difference between the cost price and the selling price of an article is Rs.300. If the profit is 25%, find the
selling price of the article.

A)Rs.1550 B)Rs.1340
C)Rs.1500 D)Rs.1450
Answer Key:C  Your Response : D (Wrong) Raise Objection(Question No. 11) (objection.aspx?qwr=3210111049&qwer=11)

Question No. 12



T WA A, TP HUT & a1 & fshd v S gl 39 AswE FT g¥a HE S ahEId § F G 5T Bl
FYT: TF Slae] Hadl Gol d6a1 drel T1El F 3YAR Fl ¢ St el o9l F FROT B g1 o A7, fazm, &
MR T F G 9% W & A 1) Shew g@rr AR 1 3wEr R e 1) st & e & smEr
T Rl

A)aT ar sy | 3R o & 1l 9ol AT gl B)&had fAshY || Ureled &aTm &l

C)Faer fashy | grelel axar gl D)fasshy | 3R 1| S=F areleT a2

In this question, a statement is given followed by two conclusions. Choose the conclusion(s) that best fit(s)
logically. Statement: A doctor nurses only the bleeding wounds which are caused by bullets. A patient, Nithya,
is bleeding profusely. Conclusions: I) Nithya is nursed by the doctor. Il) The doctor did not nurse Nithya.

A)Neither conclusion | nor Il follows B)Only conclusion Il follows
C)Only conclusion | follows D)Both conclusions | and Il follow
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 12) (objection.aspx?qwr=3210111049&qwer=12)

Question No. 13

el Y 39eT Tsifash & ARTa A7
A)FTITer ST ey B)IETHTS ARISHr
C)HgIed aMfde WIS D)aTer IMeR forereh

Whom did Gandhiji consider as his political guru?

A)Gopal Krishna Gokhale B)Dadabhai Naoroji
C)Mahadev Govind Ranade D)Bal Gangadhar Tilak
Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 13) (objection.aspx?qwr=3210111049&qwer=13)

Question No. 14



TF B FI F99 UTF IR A FiF @ T BT FF AT @ 7

THiad HIAT]
) @) 3)
“4) 5) (6)
A L3 24556 B. L6 2,453
C. s 24356 D. ga# & &% At

Group the given figures into three classes using each figure only

once.
3)
(6)
A 32456 B. [u6 2453
C. 1,5 2.4, 3,6 D. |Noneofthese
Answer Key : B Your Response : A (Wrong) Raise Objection(Question No. 14) (objection.aspx?qwr=3210111049&qwer=14)

Question No. 15



“f g qIfeIsT BT AT S X A QT ML AY FTIAL S|
fFafafaT gl 79 auf & 359 & teiied 9o gueHTsi & USR] ®I gxdl &

T s § gt &t TS HEW geAny

FHc F IER
BTG @ e T LS]FAErd HH
6000 6600 20300 31700
7000 7700 22100 36000
2600 8300 23400 38000
7900 8600 32000 37000
6500 7300 18200 29300

T8 2016 ¥ 2017 AP galedl & YA & STHI-d Ufa=rd | foa- SH 87

>

6% B. [8%

a

11% D |13%

Study the following table and answer the question given below it.
The following table represents the types of road accidents registered in a
state over the years.

Road accidents registered in a State

Types of Accidents

Years ) ) . )
Casualties Serious Injurious Minor
2014 6000 6600 20300 31700
2015 7000 7700 22100 36000
2016 8600 8500 23400 38000
2017 7900 8600 32000 37000
2018 6500 7300 18200 29800

What is the approximate percentage reduction in casualities from the year

2016 to 20177

A 6% B. 8%
C. 11% D. 13%
Answer Key: B Your Response : C (Wrong) Raise Objection(Question No. 15) (objection.aspx?qwr=3210111049&qwer=15)

Question No. 16



gfg Rl AfRaa smar &, 'ENTRY' &Y 12345 & &9 & @5 fFar s=—m § 3K 'STEADY' &t 931785 & &7 &
Hs TFar arr §, ar 33 ST #F 'ENDEAR' & & #is R irar 87

A)174189 B)128174

C)524519 D)128983

If in a certain language, 'ENTRY’ is coded as 12345 and 'STEADY' is coded as 931785, then how is
'ENDEAR' coded in that language?

A)174189 B)128174
C)524519 D)128983
Answer Key: B Your Response : B (Correct) Raise Objection(Question No. 16) (objection.aspx?qwr=3210111049&qwer=16)

Question No. 17
U AT THFAR A el 7 50% 3% WK & Tl §U, & e & HeT Ugd 3T Fiedy 9gd
ST ¥l 3 39t Frderr g F AR W R wE e 82
A)2 g¢ 30 Bee B)3 ®ier
C)1 & 30 fAee D)2 et

Walking at 50% more than his usual speed, a man reaches his office an hour earlier. How long does he
usually take to reach his office?

A)2 hours 30 minutes B)3 hours
C)1 hour 30 minutes D)2 hours
Answer Key: B Your Response : A (Wrong) Raise Objection(Question No. 17) (objection.aspx?qwr=3210111049&qwer=17)

Question No. 18



el # @ 37 3T & g7 A A" RBU v Yo w wEd =0
T/ T R 2

e

/ \\

‘v

N “‘\\ . \

Choose from the alternatives the figure that best completes the

pattern given below.
?

e

/TIIN

N ““‘\\ N \

Answer Key : C  Your Response : C (Correct) Raise Objection(Question No. 18) (objection.aspx?qwr=3210111049&qwer=18)

Question No. 19

IERed TR Felf F 9RaT F For frcar e Sy A2



A)37 B)69
C)177 D)98

How many medals did India win in the eighteenth Asian Games held in 2018?

A)37 B)69
C)177 D)98
Answer Key: B Your Response : B (Correct) Raise Objection(Question No. 19) (objection.aspx?qwr=3210111049&qgwer=19)

Question No. 20

T BT F FEA TF X STAA FF G¢ ¢ B F A9 T A

THiIT HITAT|
o "X X -o-
1) ) 3 “) (5
-O— |°
(6) (N (8) ®)
A 1,4.9; 2,57, 3,6, 8 B. 1,5 7, 2,68, 3,49

C. 57 2,493,638 D. Ea& g @S agr




Group the given figures into three classes using each figure only

once.
(1) ) (3) 4 5
PN
(6) (7 (8) &)
A 1,49 257 3,68 B. 157 26,8 34,9
C. |us57: 2,493,638 D. |Moneofthese
Answer Key: B Your Response : C (Wrong) Raise Objection(Question No. 20) (objection.aspx?qwr=3210111049&qwer=20)

Question No. 21

39 fashe 7 S KIS0 ST AT (X) FHIE g0 B9 o agd ATgE A9 2

V.//ﬁ
7
1 9Pe
X) Q (R) S)
A |®) Faer B. |(P) e

C. |®) AR (S) Faa D. |(P),(Q) 3T (S) Faer




Choose the alternative which closely resembles the folded form of

figure (X).
%
/A
o
7 ,
@
x ® Q@ ® O
A. |(R)Only B. |(P)Only
C. |(R) and(S) only D. | (P), (Q) and (S) only
Answer Key:D  Your Response : A (Wrong) Raise Objection(Question No. 21) (objection.aspx?qwr=3210111049&qwer=21)

Question No. 22

AT # @ R MY R 1T F@dy FF Fe& g TF F QU FEM? CAT : DDY :: BIG : ?
A)CLL B)CEP
C)CML D)CLM

Which of the following will best complete the relationship given below? CAT : DDY :: BIG : ?

A)CLL B)CEP
C)CML D)CLM
Answer Key: A Your Response : D (Wrong) Raise Objection(Question No. 22) (objection.aspx?qwr=3210111049&qwer=22)

Question No. 23

i T AR RE v Haer Fr Fad A e F U FM? 5513025 = 11 :?
A)55 B)22
C)121 D)66

Which number will best complete the relationship given below? 5.5:30.25::11:?

A)55 B)22
C)121 D)66
Answer Key : C Your Response : D (Wrong) Raise Objection(Question No. 23) (objection.aspx?qwr=3210111049&qwer=23)

Question No. 24



Hffamsr el 7 Sedr 2019 ¥ Aafaf@a 7 & frw 8% w1 CEO 3k MD fagera fwr arrr 82
AUTFEE dF B)IF §%
C)ICICI d& D)HDFC d&

Amitabh Chaudhary has been appointed the CEO and MD of which of the following banks from January
2019?

A)Axis Bank B)Yes Bank
C)ICICI Bank D)HDFC Bank
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 24) (objection.aspx?qwr=3210111049&qwer=24)

Question No. 25
ffaf@a St #t JauEigds 9§ 3R AR e 7w wa &1 ser &1 30 3R Ty, Pedrer 3R g Ao
&1 Qe 3k Rewer, 3B 3 Bt dord §1 o5 3l Qe Brde 3l gealar Ao €1 30T 3R R, g
IR Ssfieer Ao §) efaf@a F & sl Ssfiem, pedter ik g S 82
A)SraeT B) =g,
C)feaer D)37%0T

Read the following information carefully and answer the question given below. Arun and Chandru play football
and hockey. Deepan and Dinesh play badminton and cricket. Chandru and Deepan play cricket and football.
Arun and Dinesh play hockey and badminton. Who among the following plays badminton, football and
hockey?

A)Deepan B)Chandru
C)Dinesh D)Arun
Answer Key : D Your Response : B (Wrong) Raise Objection(Question No. 25) (objection.aspx?qwr=3210111049&qwer=25)

Question No. 26

AR ¥ Ffaf@d & ¥ 5 a8t #r 'RE 30w el Fer Jar &7

A)TSTGY B)sstH & @IS fased AT
C)aX D)fasrgarsr

Which of the following cities of India is known as 'City of Chillies'?

A)Tezpur B)None of the options
C)Guntur D)Vijayawada
Answer Key:C  Your Response : D (Wrong) Raise Objection(Question No. 26) (objection.aspx?qwr=3210111049&qwer=26)

Question No. 27
e Fand|
A)F B)B
C)E D)D



Find the ODD one out.
A)F B)B
C)E D)D

Answer Key:C  Your Response : A (Wrong) Raise Objection(Question No. 27) (objection.aspx?qwr=3210111049&qwer=27)

Question No. 28

et & @ 3@ 3T F1 g9 A AT RE v e w7 wEd 3=
T ¥ U HLET ¢

?




Choose from the alternatives the figure that best completes the
pattern given below.

-
A B
C D.
Answer Key: B Your Response : C (Wrong) Raise Objection(Question No. 28) (objection.aspx?qwr=3210111049&qwer=28)

Question No. 29

3 & £.10000 F 10% aIf¥s X ¥ Thgfe suer W i af & fAw fder B der ot & o 3@ feaeh
TRY 9o gham?

A)F.13330 B)%.13310

C)¥.13320 D)%.13340

Anand invested an amount of Rs.10000 at the rate of 10% per annum Compound Interest for a period of three
years. How much amount will he get after three years?

A)Rs.13330 B)Rs.13310
C)Rs.13320 D)Rs.13340
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 29) (objection.aspx?qwr=3210111049&qwer=29)

Question No. 30
AT & caT Fr AT F AT AeT F F B 39T F gAY FAr Far 2
A)RI#HII B)dedaitdex
C)ursiHeY D)geid & g fashod =Tet

Which of the following instruments is used to measure the pressure of gases?
A)Barometer B)Galvanometer

C)Pyrometer D)None of the options



Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 30) (objection.aspx?qwr=3210111049&qwer=30)

Question No. 31

fRigar e TereRr &t i ware 47

INIEE GRS B)#RT

C)I™ghe D)dedd

Bindusara was the second emperor from the ______ dynasty.

A)Vijayanagar B)Maurya

C)Rashtrakuta D)Pallava

Answer Key : B Your Response : C (Wrong) Raise Objection(Question No. 31) (objection.aspx?qwr=3210111049&qwer=31)

Question No. 32

gifadreT #Afey Pfaf@d & ¥ B aEw & Rua &7
A)ATST 31Tq SEIRED
C)3satet D)HTaAIR

In which of the following cities is the Palitana temple located?

A)Mount Abu B)Nasik
C)Ujjain D)Bhavnagar
Answer Key:D  Your Response : B (Wrong) Raise Objection(Question No. 32) (objection.aspx?qwr=3210111049&qwer=32)

Question No. 33
TAN fhed RS oIRa & P=RR@a 7 & fFg o F RAT &7
A)RTeTeRIcT B)SRIX
C)geTeTg D)gor

Ramoji Film City is located in which of the following cities of India?

A)Kolkata B)Jaipur
C)Hyderabad D)Pune
Answer Key: C  Your Response : A (Wrong) Raise Objection(Question No. 33) (objection.aspx?qwr=3210111049&qwer=33)

Question No. 34
I Rl TET ¥ 24 HERT ST §, o I§ 5UF 4/7 AP 9 FH @ 1T §1 3T HE&AT F 3Rl T AT AT §?
A)11 B)1
C)12 D)9

When 24 is subtracted from a number, it reduces to its four-sevenths. What is the sum of the digits of that
number?
A)11 B)1



C)12 D)9
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 34) (objection.aspx?qwr=3210111049&qwer=34)

Question No. 35
ey odtaT &, 35%m‘=rtrm§tre’r3m455ﬂw—or3’rme’n frder oEt & g & 92
A)490 B)845
C)1300 D)700

In an examination, 35% of the students passed and 455 failed. How many students appeared for the
examination?

A)490 B)845
C)1300 D)700
Answer Key : D  Your Response : D (Correct) Raise Objection(Question No. 35) (objection.aspx?qwr=3210111049&qwer=35)

Question No. 36

39 oA FT g S ag) Hey aRffar §, Str QU v i fqw e oA 7 ¥ 372 1 124
A)513 : 161 B)900 : 450
C)81 : 243 D)624 : 208

Choose the pair which shows the same relationship as in the pair given below. 372 : 124

A)513 : 161 B)900 : 450
C)81:243 D)624 : 208
Answer Key : D  Your Response : D (Correct) Raise Objection(Question No. 36) (objection.aspx?qwr=3210111049&qwer=36)

Question No. 37
FAR WY A et e ¥ e sTard g §2
A)14 B)16
C)22 D)12

How many languages are there in the eighth schedule of our Constitution?

A)14 B)16
C)22 D)12
Answer Key: C  Your Response : C (Correct) Raise Objection(Question No. 37) (objection.aspx?qwr=3210111049&qwer=37)

Question No. 38
T QU v @&t & ¥ st "9 gest" B & w3er B smar g2
A)fshahe B)dsfHea
C)eredr D)ewer ¢4

'Pen Holder' grip is used in which of the following sports?



A)Cricket B)Badminton

C)Hockey D)Table Tennis
Answer Key:D  Your Response : B (Wrong) Raise Objection(Question No. 38) (objection.aspx?qwr=3210111049&qwer=38)

Question No. 39
FEEOT F ASRION ot # & fry T & 7 30 87
A)Ica weer B) STl
C)AET vg2r D)Si#H Td HHR

Which of the following states is connected with Kalhana's Rajatarangini?

A)Uttar Pradesh B)Rajasthan
C)Madhya Pradesh D)Jammu and Kashmir
Answer Key :D  Your Response : D (Correct) Raise Objection(Question No. 39) (objection.aspx?qwr=3210111049&qwer=39)

Question No. 40
(68.237) - (31.763)* T AT AT HfST
A)3647.4 B)3.6474
C)36.474 D)364.74

Find the value of (68.237)? - (31.763)2.

A)3647.4 B)3.6474
C)36.474 D)364.74
Answer Key: A Your Response : C (Wrong) Raise Objection(Question No. 40) (objection.aspx?qwr=3210111049&qwer=40)

Question No. 41



39 T 1 =77 I S AEfT (X) F 4TS g0 =9 F agd A= 797 2)

v
*

O o |; ®

X ® Q@ ® 6

A |@) Feer B. [(Q) &aar

Cc. |®R Faer D. |(8)&a

Choose the alternative which closely resembles the folded form of
figure (X).

v
*

O o |, ?

X ® Q@ ® 6

A. |(P)Only B. |(Q)Only

C. |(R) Only D. | (S) only

Answer Key : C  Your Response : C (Correct) Raise Objection(Question No. 41) (objection.aspx?qwr=3210111049&qwer=41)

Question No. 42

210 e idlr &7 63 frel/ger i IFAR & I X W ¢ fR{eaer de 9R A & dar ga7g d@en?



A)12 d&s B)14 W3
C)15 &3 D)18 ¥Fs

A train 210 m long is travelling with a speed of 63 km/hr. How long will it take to pass a signal post?

A)12 seconds B)14 seconds
C)15 seconds D)18 seconds
Answer Key : A Your Response : C (Wrong) Raise Objection(Question No. 42) (objection.aspx?qwr=3210111049&qwer=42)

Question No. 43

tyesfew & yRomw gl
A)YFd GFafead SIART B)Ishd & Holel
C)gssr fr Ay D)7& & A

What is the result of Hepatitis?

A)Blood disease B)Inflammation of liver
C)Bone disease D)Kidney disorder
Answer Key:B  Your Response : A (Wrong) Raise Objection(Question No. 43) (objection.aspx?qwr=3210111049&qwer=43)

Question No. 44

SR &Y ugelr Afgem Isgufa Hler A2
A) TS FATIg B)3HAT HRAT
C)ufasm urfee D)sfeexr amedt

Who was the first woman President of India?

A)Sarojini Naidu B)Uma Bharati
C)Pratibha Patil D)Indira Gandhi
Answer Key : C  Your Response : C (Correct) Raise Objection(Question No. 44) (objection.aspx?qwr=3210111049&qwer=44)

Question No. 45
A & v af F fAT 5.15000 F 10% FMF A T & Wwhgfer sarer W fAder fmam| Al sarer v o 3w
aIf¥s whgfed &7 & $7 7§ &), o af H Tt W AR Fr Reeh IR wrwT g
A)%.16537.50 B)%.16550.50
C)%.18150 D)¥.16540

Mani invested Rs.15000 with Compound Interest at the rate of 10% per annum for one year. If the interest is
compounded half-yearly, what amount will Mani get at the end of the year?
A)Rs.16537.50 B)Rs.16550.50

C)Rs.18150 D)Rs.16540
Answer Key : A Your Response : B (Wrong) Raise Objection(Question No. 45) (objection.aspx?qwr=3210111049&qwer=45)



Question No. 46
T TSR HT IRTT & §U, TSRT A Fel, "qE A 1§ & A A shelleh & §1" TR Towr F H wefoaT @2
INE il B)AT
C)dget D)s<r

Introducing a girl, Rajesh said, "She is the only daughter of my brother's father." How is the girl related to
Rajesh?

A)Niece B)Mother
C)Sister D)Daughter
Answer Key: C  Your Response : C (Correct) Raise Objection(Question No. 46) (objection.aspx?qwr=3210111049&qwer=46)

Question No. 47
1966 # YuleT #r AT dgIgY A Y 7Y & a1 AR & HARA Jui 7 & &9 7 Fo=faf@a 7 & o
o fmar ar?
A)ARRST aTs B)sfexr amefr
C)avor &g D)3[ers_Y @Tel e

Who among the following acted as an interim Prime Minister of India after the death of Prime Minister Lal
Bahadur Shastri in 19667?

A)Morarji Desai B)Indira Gandhi
C)Charan Singh D)Gulzari Lal Nanda
Answer Key: D  Your Response : D (Correct) Raise Objection(Question No. 47) (objection.aspx?qwr=3210111049&qwer=47)

Question No. 48
ar HEAY 56 YR § & 3% ACT 7 AT § 4 : 7. IR IS d&qr A 4 For ;v Ser §, ar weqara 3 ¢
5 g ST 81 Wa¥ 37 $EAT FT IaT o@md |
A)36 B)64
C)56 D)48

Two numbers are such that the ratio between them is 4 : 7. If each number is increased by 4, the ratio
becomes 3 : 5. Find the larger number.

A)36 B)64
C)56 D)48
Answer Key : C  Your Response : C (Correct) Raise Objection(Question No. 48) (objection.aspx?qwr=3210111049&qwer=48)

Question No. 49
R # fohasr ¥R & GST §?
A)2 B)4
C)3 D)1



How many types of GSTs are there in India?

A)2 B)4
C)3 D)1
Answer Key:C  Your Response : B (Wrong) Raise Objection(Question No. 49) (objection.aspx?qwr=3210111049&qwer=49)

Question No. 50
WA FL: 8.7 - [7.6 - {6.5 - (5.4 - 4.3 - 2)}]
A)2.5 B)3.5
C)8.5 D)5.5

Simplify: 8.7 - [7.6 - {6.5 - (6.4 - 4.3 - 2)}]

A)2.5 B)3.5
C)8.5 D)5.5
Answer Key : C Your Response : B (Wrong) Raise Objection(Question No. 50) (objection.aspx?qwr=3210111049&qgwer=50)

Question No. 51
frfaf@a serd #r Jauet & 96 AR A Re 1w g # 3a) &) ) B fr v g R & 97 e
39T (W3 F waQ o), 7Y (W F W@ 7En) MR AT §1 ) GHEAT F A F Raw G, S A Aeer R
ST geotr FATT A Fad T A& T 1) AgT F I3 FEX BN T F Raw A W Aok o F wad 73
R F B IV) AT B e B & F o a7 GO AR Foer A V) AT F & 3R a2 § e @
¥ orer AR s @ 931 3R AR, At & dar & 93 §1 V) A8 AR e gEer 3R s F g7 §1 Vi)
e T4 Fr T F1 Foem, JST F FY wafoT §2
A) TSI B)sgeT
C)Tr §g= D)Sér

Read the following information carefully and answer the question given below. I) Mithran has a daughter and
two sons Usha (youngest of all), Raghu (eldest of all) and Suman respectively. 1) Suman married Roja, the
eldest daughter of Mr. Mohan and his wife Sumathi. Ill) Mohan married their youngest daughter to the eldest
son of Mr. and Mrs. Sharma. IV) Mohan youngest daughter had two children Sandeep and Sanjana. V)
Mohan have two more children, Roshan (Younger than Roja and Elder than Bhaskar) and Bhaskar, both are
elder to Seetha. VI) Rohan and Raju are sons of Suman and Roja. VIl) Leela is the daughter of Sandeep.
How is Sanjana related to Roja?

A)Niece B)Sister
C)Cousin D)Daughter
Answer Key: A Your Response : C (Wrong) Raise Objection(Question No. 51) (objection.aspx?qwr=3210111049&qwer=51)

Question No. 52
UPSC & 3reet #r fagfara @l aear 872
INEBIGEE] B)Irsgufa
C)¥Rd & HEY wararefier D)lehd T 3TegeT



Who appoints the Chairman of the UPSC?

A)Prime Minister B)President
C)Chief Justice of India D)Speaker of Lok Sabha
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 52) (objection.aspx?qwr=3210111049&qwer=52)

Question No. 53
e x F 20% F 10% = &5 §, @ F A AT F
A)3.230 B)%.245
C)%.240 D)%.250

If 10% of 20% of x = Rs.5, find the value of 'X'.

A)Rs.230 B)Rs.245
C)Rs.240 D)Rs.250
Answer Key:D  Your Response : D (Correct) Raise Objection(Question No. 53) (objection.aspx?qwr=3210111049&qwer=53)

Question No. 54

HepqfRa Sietsntadl (NCST) & fAw ggar I T & afsa gam ar?
A)3tder 2001 B)ATT 2004
C)& s 2004 D)ATT 2000

When was the first National Commission for Scheduled Tribes (NCST) constituted?

A)April 2001 B)March 2004
C)May 2004 D)March 2000
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 54) (objection.aspx?qwr=3210111049&qwer=54)

Question No. 55
T AT T g3 3R TF HAFelel AW Hed H a9l gl 3 g W 15% FT A g § AP Heapeiet
W 15% #r gifer gl &1 38H For AT AT g whewre AT A
A)2.75% aTeT B)1.75% &Tfel
C)2.25% grfet D)1.5% areT

A person sells a watch and a calculator for the same price. He makes a profit of 15% on the watch and incurs
a loss of 15% on the calculator. Find his overall profit or loss per cent.

A)2.75% profit B)1.75% loss
C)2.25% loss D)1.5% profit
Answer Key : C  Your Response : C (Correct) Raise Objection(Question No. 55) (objection.aspx?qwr=3210111049&qwer=55)

Question No. 56
fAfaf@a st @ aEueiyds 9§ 3R A= T 1w weT #7 3ee’ &) 31901 IR g, Pealer 3R g Weret
g1 Qe AR R, Bsfiee 3R Brde dera €1 g 3R de, Bnde 3l gedlar Ao §1 30T 3 R, R
IR Fsfiiea Qe &) AefAf@a 7 @ Fia e at doar 82



A)EraeT B)dg,
C)fearer D)37%0T

Read the following information carefully and answer the question given below. Arun and Chandru play football
and hockey. Deepan and Dinesh play badminton and cricket. Chandru and Deepan play cricket and football.
Arun and Dinesh play hockey and badminton. Who among the following does NOT play cricket?

A)Deepan B)Chandru
C)Dinesh D)Arun
Answer Key : D  Your Response : D (Correct) Raise Objection(Question No. 56) (objection.aspx?qwr=3210111049&qwer=56)

Question No. 57
et e 35 orEl A w3y 15 a¥ ¥ IR Rerw A I3y o anfAer Hr S §, A e I wF @ 9
STl #1 R $r 3 AT H
A)50 a¥ B)56 a¥
C)45 ay D)51 a¥

The average age of a class of 35 students is 15 years. If the age of the teacher is also included, the average
increases by one year. Find the age of the teacher.

A)50 years B)56 years
C)45 years D)51 years
Answer Key :D  Your Response : A (Wrong) Raise Objection(Question No. 57) (objection.aspx?qwr=3210111049&qwer=57)

Question No. 58
3, e 3R gl 1 AT AR 45 B §1 A 3 AR 3T F AT AR 40 Fham § 3R I v g # 43
Rl &, a9 3 F HR F gaT I
A)31 T B)26 fRam
C)17 fam D)20 famam

The average weight of Anu, Abi and Subi is 45 kg. If the average weight of Anu and Abi is 40 kg and that of
Abi and Subi is 43 kg, then find the weight of Abi.

A)31 kg B)26 kg
C)17 kg D)20 kg
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 58) (objection.aspx?qwr=3210111049&qgwer=58)

Question No. 59
1287 + 11(13) & A AT il
A)13 B)11
C)7 D)9



Find the value of 1287 + 11 of 13.

A)13 B)11
C)7 D)9
Answer Key:D  Your Response : D (Correct) Raise Objection(Question No. 59) (objection.aspx?qwr=3210111049&qwer=59)

Question No. 60
ar seam3it # IoEHe 120 ¢ 3R 357% @t v Arer 289 ¥ wE&AME F Aer AT RS
A)20 B)23
C)196 D)169

The product of two numbers is 120 and the sum of their squares is 289. Find the sum of the numbers.

A)20 B)23

C)196 D)169

Answer Key : B Your Response : C (Wrong) Raise Objection(Question No. 60) (objection.aspx?qwr=3210111049&qwer=60)





